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Risposte

1. 7.395

2. 10.350

3. 11.489

4. 4.427

5. 10.060

6. 13.389

7. 10.589

8. 3.124

9. 4.607

10. 7.369

11. 10.303

12. 2.848

13. 6.392

14. 6.654

15. 12.330

16. 6.470

17. 3.252

18. 7.244

19. 15.320

20. 14.450

Risolvi ogni problema.

1) 3.768 + 3.627 = 7.395

2) 7.869 + 2.481 = 10.350

3) 8.964 + 2.525 = 11.489

4) 3.409 + 1.018 = 4.427

5) 5.684 + 4.376 = 10.060

6) 9.946 + 3.443 = 13.389

7) 5.950 + 4.639 = 10.589

8) 2.085 + 1.039 = 3.124

9) 3.055 + 1.552 = 4.607

10) 3.977 + 3.392 = 7.369

11) 5.441 + 4.862 = 10.303

12) 1.593 + 1.255 = 2.848

13) 4.392 + 2.000 = 6.392

14) 5.073 + 1.581 = 6.654

15) 6.287 + 6.043 = 12.330

16) 4.457 + 2.013 = 6.470

17) 2.029 + 1.223 = 3.252

18) 5.124 + 2.120 = 7.244

19) 9.197 + 6.123 = 15.320

20) 9.001 + 5.449 = 14.450
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Risolvi ogni problema.

2.848 11.489 7.395 10.350

4.427 10.060 3.124 13.389

4.607 7.369 10.303 10.589

1) 3.768 + 3.627 = 7.395

2) 7.869 + 2.481 = 10.350

3) 8.964 + 2.525 = 11.489

4) 3.409 + 1.018 = 4.427

5) 5.684 + 4.376 = 10.060

6) 9.946 + 3.443 = 13.389

7) 5.950 + 4.639 = 10.589

8) 2.085 + 1.039 = 3.124

9) 3.055 + 1.552 = 4.607

10) 3.977 + 3.392 = 7.369

11) 5.441 + 4.862 = 10.303

12) 1.593 + 1.255 = 2.848

Risposte

1. 7.395

2. 10.350

3. 11.489

4. 4.427

5. 10.060

6. 13.389

7. 10.589

8. 3.124

9. 4.607

10. 7.369

11. 10.303

12. 2.848

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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